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QF Code : 30569
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3. (a} Dectermine voltage gain, Input resistance and output resistance for the 10
MOSFLET amplificr shown,

t*‘l-S‘H’
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&

(b} Explain the working and characterisiics of n-channel Junetion Field Effect 10
Transiators (JFET)

4, {a) Draw the output waveform V,, for clt shown 1L (1) Vr =0V (i} vr=0Tv 10
" where Vr iz cutin valtage of diode.. 2
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JFET type BFW11 for the
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y and corresponding input valiage
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| Question No, 1 iy compulsory, 1
Chut ol rl.'ll'llllrllrla.'r yuestlins, aetempl ary ek giestions

Assume suitable additional data if reqoired.
Figures in brockets on the right hond side indica: e full marks.

&

T Bl

L m:]- Compare Combinational circuits with Sequential clreuds, 15)
"11" Compure Synchremuus with Asynechronous counier. (@5}
(L) Compare TTL with CMOS logic familics, 05)
(D) Compare PLA with PAL, (5]
1. (A) Wrile the VHDL code for 2-bit upedown connter wih positive srige (10
triggered clock,
(B State and prove the De Morgan's theorem, ey
(C)  Draw the block diagram of internal architecture of XC40 family ({13]
FPGA,
¥ (A) Design synchronons coonter osing Tetype Oip fops tor getting the (I
following sequence: 8 =2 — J % G -®0, Take care of lockoul
cendition.
(B) Convert T-type flip Nop inte D-type flip fop. 05}
() Write {AB Y, into its BCD code and Ogtal code. (5]
4. {A) Implement the following Boolean equation using singie 4:1 MUX and (10)
few loeic gates:
FOP.@ R 81 =] ] 810,25 6.7.9.1%15)
(B) Compare FPGAs with CPLDs. (05)
{C) Implement ¥ = A+BC nsing only NOR pates. (5}
5. (A} Draw aneat circoit of BLD adder using 1C 7483 and explain, (10}
(B) U.g]n,g Cuine McClusky method, minimize the lullowing: (1001
: v il =gt LT 1)
FPQ.RS) =2 m0.137 88 15}« (210,01
, gence detector circull o dedect & sequence L1813
6. (A) Design a Meuiy type I:*E
101 using T-type thp Hops. j
(B) :'.'hm is a?:lﬂ register? Explain any one type of shift segister. Give its (10)
applicatien.
Pl ees b LS
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